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[Study-Up./ — b¥¥ 1 RIREL]
D)
(1) Ta2452—1—-3x2=(7T—3)x245x—1
=4x?45x—1
2 4a’+3a+1-2a°—-% +3=(1—-2)a*+(3—9a+(1+3)
=2a*—b6a+4
[Study-Up./ — b &5 1 [RE2)

(1) —x4+2x4+3+4x=(—-1+4)x?+2x+3

=3x142:43
(2) a*—Ta+2-5a*+4a—6=(1-5)a’+(-T+4)a+(2-6)
=—4a?—3a—1
[Study-Up./ — b2 1 RHRES)

@

(1) dax+2a+x°+7+x=x*+(da+1)x+2a+47
() x*—Z2xy+y*+32+6y—8=x'+(—2y+3}x+ y*+6y—8

[Study-Up ./ — M2 T FiRE4]

() Sa*+ax+3x?—1-2x=3x?+(a—2)x+5a%—1
(2) 222—5xy42y2—3x+4 y+4=2x24(—5y—3)x+2y24 y+4
[Study-Up/ — M4 1 RiRES]

) A+B=(2x"+44x—3)+(x*—3x+5)
=2x*+4x—3+4+x*—-3x+45
=(2+1)x?+(4 =3)x+(—3+5)
=322+ x+2

(2) A—B=(2x2+42—3)—(x2—3x+5)
=2x%44x—3—x*+3x—-5
=(2-1)x2+(44+3)2+(-3-5)
=x?+T7x—-8

[Study-Up./ — ¥k 1 RHRE6]

(1) A+B=(3x+x?—6x+1)+(4x*—22-T7)
=320+ 22— 62+ 14422 —2x -7
=@+ 224 (—6-2x+(1-T)
=Tx%4 22— 82-6

@ A-B=(3x"+x—6x+1)—(dx>—2x—7)
=303+ 22— 6x+1—4x"+22+47
=(B—4)x*+xi4(—6+2)x+(147)
=—x 4+ x2—4x+8

[Study-Up/— b4 1 RE7]

(1) 5a?x3a®=5%x3x a?+f
=15q4*
(2) de?x(—2xY=dx(—-2)xati3
= —8x5
(3) 3x2yx4y3=3x4X 22X y'+3
=122yt
(4) (—5a’)=(—5"x(a’)?xb?
=25xa’*2xb?
=25a%?2
[(Study-Up./ — R 1 fiRES]
@)
(1) Ta’Xda=Tx4xa’"!
= 28a*
(@) (—32%)x5x2=(—3)x 5x xi+?
= —15x8
3) 2a%x(—6a%)=2x(—6)XatIx b+
= —12a%?
@ (=22 =(=2)"x(2?)* x (y)?
= —8x xPIK yIx3
= —8xfy?

[Study-Up/ — M2 1 9]

() e{a+2)=a*Xa+a?x2
=a’+2a*
() (FF—x+3)x?=x2Xx?+(—x)X x2+3X x?
=xt—x34+3x2
(3) (#—=Tx)x+2)=(x2=Tx)x+(x2—"Tx)-2
=23 —Ta? 4+ 2x2 - Udx
=x?—5x'— 14x
4) (2a*—a+4)a+3)=(2a’—a+4)a+(2a*~a+4)-3
=2a°—a’+4a+6a?—3a+12
=2a°+5a*+ a+12

[Study-Up./ — F#CE T FERE10]

(1) (2a—3)a*=2axa*+(-3)xa’
=2a'-3a*
(2) dx¥{x?+3x—6)=4x2X 2 +4x* X 3x+ 422X (—6)
=424 120° - 24x?
(3) (a*+5a)a—5)=a¥a—5)+5a(a—5)
=a’—5a*+5a*—25a
=a’—25a
@) (x—y(2i+xy+y) =2 +xy+y%) -2+ 27+ )
=x'+xiytayi-xly—ayi—y?
=xl—yt

[Study-Up./ — F#=2 1 RRE11)

(1) (3x+5)*=(3x)2+2-3x-5+5°
=9x2430x+25
@) (x—4yP=x=2-x-dy+ 4y
=x2—8xy+16y?
(3) (2x+3)2x—3)=(22)* -3
=4ri-9
(4) (a+5b)a—5b)=a?—(5b)
=a?—25h?
(5) (x+4)(x+5)=x*+(4+5)x+4-5

=x24+9x+20
®) (x43)(x—2)=22+[3+(-2)x+3-(-2)
=x24x—6
[Study-Up./ — b 1 RE12)
(B
(1) (2a-3)¢=(2a)*—2-24:3+43*
=4a?~12a+9
@ (3a+2b)'=(3a) +2-3a-2b +(2b)
=9a?+12ab + 4b?
3) (Tx—dx7x+4)=(Tx)* 42
=49x2— 16
(@) (10a—3bY10a + 3b)=(10a)*— (3b)?
=100a%—956?

5) (x—6)(x+2)=x"+{(—6)+2}x+(~6)-2

=x?—4xr-12

6) (x—2)(x—=T)=x?+{(=2)+(=T)x+(=2):(=T7)

=r'-0x+14
[(Study-Up/ — hE% 1 HR13)
@D
(1) (5x+4)x+2)=5-1x2+(5-2+4-Ljx+4-2
=5x2414x+8
(2) (Bx—2)dx—3)=3-4x+(3+(=3)+(—2)- 4)x+(—2)-(=3)
=1222-17x+6
(3) (Ba+5)2a+3)=8-2a*+(8-3+5-2)a+5:3
=16at+34a+15
@ (2a—Ty6a—1)=2:6a*+(2:(=1)+(=T)-6la+(=T)-(=1)
=12a%—d4a+7

[Study-Up/— h 45 1 RA%E14)

1) (Tx—9x+1)=T-1224{7-14(—9)- 1jx+(—9)- 1
=Txt—2x-9
(2) (2a+1)3a—2)=2:3a*+(2:(=2)+1-3ja+1-(=2)

=bat-a-2

3) (3a—5)da+1)=3-4a*+(3:1+(-5)-d)a+(—5)-1
=12a*-17a-5

(4) (9x+4y5x—8)=09-5x2+(9+(—8)+4d-5}x+4-(-8)
=452 52x—32

(Study-Up/ — R4 1 RERH1L5]

(1) (x+5yXx—2y)=x2+(5y—2y)x+5y-(—2y)
=x243xy—10y2
(@) (5x+29(35+5y)=53x+(5-5y+2y- x4+ 2+ 5y
=15x2+3lxy+ 10y
(3) (4x+3a)bx—5a)=4-6x"+(4:(—5a)+3a-6)x+3a-(-5a)
=24x%?— 2ax—15a?
[Study-Up./ — M5 1 RiRE16]
)
(1) (2=3y)x=Ty)=23+(=8y—Ty)x+(=3y)(=T7y)
=xt—10xy+21y?
(2) (3a+26)da—5b)=3-4a?+(3-(—5b)+2b- d)a+2b-(—5b)
=12a%*—Tab—10b?
(3) (Bx—a)2x—T7a)=8-2x*+(8-(=Ta)+(—a) 2)x+(—a)-(~Ta)
=16x*—58ax+Ta?




(Study-Up/ — h#F 1 [EELT]
(G
D) x—y=4 L&,
(x—y+z)'=(A+z)
=A?4+2Az+2*
=(x—y)l+dx—yz+2?
=x?—2xy+y*+2xz—2yz+2?
=x4y*42t—2xy—2yz+22x
(2 a—b=A LI,
(@—b+2)a—b—"5)=(A+2(A—5)
=A24(2-5)A+2-(-5)
=A-3A-10
=(a—bP—3a—b)—10
=a’—2ab+b?—3a+3b-10
[Study-Up/ — F¥3¥ 1 RiA18)

() x+y=A 6L,
(x+y—3z)t=(A—3z)
=A?-6Az+92?
=(x+ y)’—6(x+ y)z +9z*
=x*42xy+ y*—bxz—b6yz +9z°
=24+ y2 49284 2zy—6yz —6zx
@ a+2b=A E8<,
(a+2b+1§a+2b—1)=(A+1fA—1)
=A?-1
=(a+2bp-1
=a?+dab+4b2—-1
[Study-Up./ — bEE%E 1 RORE19]
)
(1) (a+5){a—5)={((a+5)a—5)
=(a*-25)*
(a?f—2-a% 254 25°
=a'-50a?+625
() (224 4A)(x+2x—2)=(x?+4)X (x+2{x~2)

=(x?44)(x2—4)
=(x8)?—42
=x1-16

[Study-Up./ — b2 1 RREE20]

() (2x+ y)i2x—yP=|(2x+ yx2x—y)}
==y
= (et -2y 4 (7
=161 —8x2y? 4 y!
2) (9a*+1)3a+1)3a—1)=(9a?+1)x(3a+1¥3a-1)
=(%9a2+1)9at—1)
=(9a?)? -1t
=8lat—1
[Study-Up/ — h#t 1 [H&E21]

(1) —zy=x-x—x-y=s2—y)

(2) 6a*b+3ab?=23ab-2a+3ab-b=23ab(2a+b)

(3) 22*45xy—bx=x-2x+x-5y—x-6=1x2x+5y—6)

(4) 9a’x+6ax’—3ax=23ax-3a+3ax-2x—3ax-1
=3ax(3a+2x-1)

[Study-Up/ — h¥%: 1 FiRE22]

@D

(1) 2xy+3y =y -2x+y-3y=n2x+3y)

(@) dab?—12ab =4ab- b—4ab-3a =Adab(b—3a)

3) 3xy+T7x—12x%y =x-3y+x-7T—x-12xy
=x3y+7—12xy)

(4) 2ab*—4ab+8a*h*=2ab-b—2ab-2+ 2ab-dab
=2ab(b—2+ dab)

[Study-Up./— M &% 1 FRRE23]

(D)

M) a(x+y)+%x+y)=(a+2(x+y)

@) Sx—y)+(y—xa=5x—y)—(x—ya
=(5—a)jx—y)

[Study-Up/ — b 1 RRE24]

(1) a®+12a+36=a?+2-a-6+6
=(a+6)*
(2) x*—14x+49=x2—2-2-T472
=(x—Tp
(3) #*—10xy+25y?=x2—2.x.5y+4(5y)
=(x—5y)
(4) 9x%+12xy+ 4y =(3x)24+2-3x-2y+(2y)
=(3x+ 2y
(5) 22—16=x2—42=(x44)x—4)
6) x*—8ly*=x*—(9y) =(x+9y)x—9y)
(7) 25a%—64b?=(5a)i— (8b)!=(5a + 8b)5a —8b)

[Study-Up/ — h#t%: 1 RRE25]

(@D
(1) 4a*—4a+1=(2a)*—2-2a-141°
=(2a -1y
(2) ¥+ 18y+8l=y2+2-y-940¢
=(y+9p?
(3) 36a*—12ab+b*=(6a)p—2-6a-b+b?
=(6a— b)?
(4) 25a?—30ab+9b*=(5a)*—2-5a-3b +(3b)
=(5a—3b)?

(5 4x-121=(2xy-11*
=(2x+11)2x— 11

6) 36a2—49b2=(6a)2—(Tb)
=(6a+TbY6a—Tb)

(7) 100m?*—9n 2= (10m)*—(3n)?
=({10m +3n)10m — 3n)

(Study-Up/ — % T FEIRE26)

()

(1) 22+5x+4=x24+(1+4)x+1-4
=(x+ 1 x+4)

(2) x2+3x—18=x?+(6—3)x+6-(—3)

=(x+6)x—3)
(3) 2—2—42=2x24(6—T)x+6:(=T)
=(x+6)x—17)
4) ¥*—=13y4+30=y?+(=3-10)y+(-3)-(—10)
=(y=3y—-10)

(5) x2+43xy—10y2=x2+(5y—2y)x+5y-(—2y)
=(x+5y(x—2y)

6) x*+dxy—12y2=22+(6y—2y)x+6y:(—2y)
=(x+6y)x—2y)

(M a*—12ab+27b*=a?+(—3b—9b)a+(—3b)-(—90)

=({a—3b)a—9b)
(Study-Up/ — M4%%¥ 1 RiRE27]
Gz
(1) 22+ Tx4+12=x?4(3+4)x+3:4
=(x+3)x+4)
) #—8x+12=x4(—2-6)x+(—2)-(—6)
=(x—2)x-6)
(3) 2t 42r—15=x24(5-3)x+5:(=3)
=(x+5)x-3)

) a*—a—-30=a*+(5—6ja+5-(—6)
=(a+5)a—~6)

(5) x*—dxy—2ly*=x+(3y—Ty)x+3y-(—Ty)
=(x4+3y)x—Ty)

6) x*—5ax—36a=x?+(da—%a)x+4a-(—9%a)
=(x+4da)x—0a)

(1) a+2ab—24b%=a’+(6b—4b)a+6b-(—4b)
=(a+6b)a—4b)

(Study-Up/ — b3 1 f)RE28)

@D

(1) 2x243x+1=(x+1y22+1)

1 1—2
2 1i—s=1
2 1 3
24 x—3=(x—
+x (x—1X2x+3) 1 S AL
2 e A
2 -3 1
(3) 6x2+ax—a*=(2x+a)3x—a) 2 X g — 3a
2] —a — —2a
6 —a’® a
2xl—xy—6y=(x—2y)2x+3
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